DI1R block (monkey KN)

model BIC ABIC
#1 E = l/a(cond)R -85.6 9.9
#2 E = l/a(cond)R + e 95.5 0
#3 E = l/aR + e(cond) -93.6 1.9
#4 E = l/a(cond)R + e(cond) -92.6 2.9
DIR block (monkey ST)

model BIC ABIC
#1 E = 1/a(cond)R -110.6 0
#2 E = l/a(cond)R + e -98 12.6
#3 E = 1/aR + e(cond) -92.4 18.2
#4 E = l/a(cond)R + e(cond) -95 15.6
D2R block (monkey KN)

model BIC ABIC
#1 E = l/a(cond)R -126.7 0
#2 E = l/a(cond)R + e -120.7 6
#3 E = 1/aR + e(cond) -103.6 23.1
#4 E = l/a(cond)R + e(cond) -117.4 9.3
D2R block (monkey ST)

model BIC ABIC
#1 E = 1/a(cond)R -151.7 0
#2 E = l/a(cond)R + e -138.8 12.9
#3 E = 1l/aR + e(cond) -124.2 27.5
#4 E = l/a(cond)R + e(cond) -135.4 16.3




